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(Etel - 2l)

= o =L & E2 A ()

= | 6,359,501 6,359,501,000
iy A |3,753,264 3,753,263,500
AL Zeldl (3,753,264 3,753,263,500
1. 3R(181) 1,233,508,000
b 1elal 524,0002 * 1§81 + 49 = 2,096,000
Lt. 2014l 464,000 * 1JH8J| * 10162 = 471,424,000
Ct. 3el4l 464,000 * 1048 «  30¢ = 13,920,000
ct. 4014l 346,0002 * 1§38t = 980Y = 339,080,000
O &2 521,0008 = 1§81 + 7169 = 373,036,000
b 28 33,952,000
- oty 268,0008 *  4J)HE » 16Y = 17,152,000
- =RA 300,0008 *  4JHE x 12€ = 14,400,000
- AulA 40,0008 * 30 x 29 = 2,400,000
2. 13(2811) 1,222,788,000
b 1elal 520,0008 = 1§81l « 49 = 2,080,000
Lt. 2014l 460,0008 * 1§87 * 10162 = 467,360,000
Ct. o1& 460,0008 « 1JH&I| « 309 = 13,800,000
ct. 4014 343,0008 « 1I§8tI] + 9809 = 336,140,000
O StE2 516,000 = 1§81 + 7169 = 369,456,000
b 2lgia 33,952,000
- 2pta 268,0008 *  4)H& » 16€ = 17,152,000
o FEd 300,0008 *  4J0H& * 12€ = 14,400,000
- Al 40,0008 = 30 x 29 = 2,400,000
3. ot 503,895,000

b 1elal 265,0008 *  1HE * 3 =
Lt. 2014l 232,0008 *  1HE * 9249 = 214,368,000
Ch 4Q4(&D12h) 171,0008 =  1JHE = 716¥ = 122,436,000
ok 4d (1= 71,0008« 1HE x 2099 = 14,839,000
Oh SFE2(XII2) 236,000 =  1HE + 554Y = 130,744,000
o #E2(1FI) 98,0008 *«  1IHE x 349 = 3,332,000
Ab. lelal 18,176,000
- 2pral 268,0008 *  2)HE » 169 = 8,576,000
- Eed 300,0008 * 2)H& * 12€ = 7,200,000
- AUl 40,0008 * 30 x 29 = 2,400,000
4. 8 673,072,000

Jbo1el Al 404,000& *  10HE « 9 =
Lt. 2014l 357,000& *  10HE « 914Y = 326,298,000
C 4Q14(&D12h) 2650008 »  1JHE = 5008 = 132,500,000
ok 4RIH(IEED) 123,0008 «  1HE x 2129 = 26,076,000
Oh SEJ(II2) 402,000 » 14 » 385Y = 154,770,000
oh. BE2(IHI) 186,0008 « 1K x 829 = 15,252,000
Ab. lelal 18,176,000
- 2ptal 268,000 * 20" x 169 = 8,576,000
- ERA 300,000& * 2)H"E x 129 = 7,200,000
- g 40,0008 + 302 *« 2% = 2,400,000
5. 14N 40 W STAFT 4+ 120,000,500
Of. et oM ol SEUET 120,000,500
A2 2,606,237 2,606,237,500
Al Hl  [2,606,237 2,606,237,500
1. 3R(1821) 872,553,500
b 1€ 34 2,200 *» 33240 x 61Y = 44,554,400
Lt 12 2.54] 2,5002 *x 2764 x 81Y = 55,890,000
Ch 12 24 2,7008 » 22241 « 345% = 206,793,000
ch. 12 1.54 2,9008 x 1674 x 4879 = 235,854,100
OF 12 14 3,1008 » 11241 « 650 = 225,680,000
BF. OH AL 3,5008 x 674 x 406 = 95,207,000
AL QlElal 3,500@ x 4ME o+ 2450 = 8,575,000




2. 7(28t]]) 833,159,100

Jh 1 34 2,200  x 3174 x  61Y = 42,541,400

Lt 1 2,54 2,500 x 26441 x  81YH = 53,460,000

Ch 1 24! 2,700 x 2124l x 345YH = 197,478,000

ch. 1 1.54 2,900& x 1594 x 487YH = 224,555,700

OF 1 14 3,100& » 1074 x 6509 = 215,605,000

HE. OH &l 3,500 x  B4Al x 406YH = 90,944,000

Ab. @Bl Al 3,5008 x 40HE x 2450% = 8,575,000

. otAl 467,506,900

Jb &D12¢ 439,919,100

1) 1L 34 2,200 x 2094 x 499 = 22,530,200

2) 12 2541 25002 * 1744 x 66H = 28,710,000

3) 1 24! 2,700  x 1404 % 2799 = 105,462,000

4) 1 154 29008 + 1054 * 393%H = 119,668,500

5) 1L 14 3,100  x 714l % B24H = 115,332,400

6) O &l 3,500 x 424l x 3289 = 48,216,000

Lt. H&ED|2E 23,562,800

1) 1 34 2,200 x 864l x 6% = 1,135,200

2) 19 2541 25008 x 724« 8Y = 1,440,000

3) 1Y 24 2,700 x  B58Al  x  36YH = 5,637,600

4) 1 154 29008 + 4445 x  H50H = 6,380,000

5) 1L 14 3,100& x 304 % 68%Y = 6,324,000

6) OH&! 3,500& * 18A& x 429 = 2,646,000

Ch, 2Hla 3,500& = 2JiE@ + 1150% = 4,025,000

.S 383,018,000

Jb. &2t 352,987,300

1) 1L 34! 2,200 1944 x 429 = 17,925,600

2) 12 2,541 25002 * 1624l « 579 = 23,085,000

3) 1 24! 2,700& * 1304 *x 2409 = 84,240,000

4) 1 154 29008 + 984  x 3409 = 96,628,000

5) 1 14 3,100& =+ 664 * 4529 = 92,479,200

6) OHA! 3,500& * 394 x 283" = 38,629,500

Lt. HEDI2t 26,005,700

1) 1L 34! 2,200& * 954 & 6Y = 1,254,000

2) 14 2541 25002 « 79A % 8% = 1,580,000

3) 1 24! 2,700& * 644 368 = 6,220,800

4) 1 1,54 29008 * 484l  « 519 = 7,099,200

5) 1< 14l 3,100& *= 334 & 698 = 7,058,700

6) OfA! 3,500& * 194 x 42" = 2,793,000

Ct. 2dla 3,500& x 28 x 1150& = 4,025,000

5. M 20 2 ZEQIXX} 29 50,000,000

Of. st M U SEFT} 50,000’000
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